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* Suppose the demand curve for orange is Q(P)=

' f(x)— =, g()=—
-X

Find the value of 1”.;. 1 + 1 +
1x2 3x4 5x6

If a isaconstant, fim(l+ax)!'*=?
X—rm

What is the average value of th(; function f(x) = 4cos® = on the

interval [O,—l-:l ? ‘
2

J.1+xdx?
1-x

© [ sin(7x)cos(3x)dx =7 -

100
(nP+2)*°

" what is the elasticity of demand at price level P=$10 7 (Hint:

Elasticity of demand = relanve change in Q(P)/ relatxve change
inP.)

. 'Suppose monthly costs of producing @ unit of ice-cream is

c@)=2 + 0+ €%, The selling price of the ice-cream is $2 per

unit. What is the producing level that maximizes profit?
Fmd the area of region bounded by

for —1<x<1.
x —

Find the volum'? betweer}; z=4-x%-y? and z=4-2x

Find the area of the sm‘f'qce generated when the lemniscate
r? =2a%cos20 isrevolved about the x -axis."

T memg e o c——
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5. *(A) (6%)
(B) .(7%)

© (1%)

(A) (5%)

®B) (5%)

05

Approximatci cos(vx)dx to four slgmﬁcant digits.

Find u(W,t) and w(¥,t) such that dW()) = udt +vdX(t),

_where. (1) = f()X(1)-

: o
Find fime” "}"_,——=‘? :

R—>»x k= 0

Suppose @ and b are such that J; (ax+b—f(x)f dx

-reaches its minimum. Find the vatue of @ + 2b.

L
Find the maximum of Z (E) X under the constraint
k=1

x,%=1.

iMs-

Suppose there are only two s;pcli;f L and H, in John’s portfolio. The portfolio
weights(424-# &) that he will investin L and H are x; and xp,

x
respectively. Let x =[ L

], then it satisfies that x; +x;=1. The expected
XH] .

returns are 4, and Hy respectively, i.e., y=[#":|.The investor’s objective ,
| LAH

. e 1 o?
is to select x to maximize x'y--i—x’ﬂx,,where Q= [ L O :l What is

Oy O'H

the optimal portfolib weight (J; LX)
A) (%)
B) (5%)

x;=7
Xy =1
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Part 1. Microeconomics(each question 2 points): choose the best-answer. ( fééﬁ A 13‘] Z}' lﬂ)

1. Suppose that two book stores are located at a=1/4 and t=5/8. What is the pomt of
market segmentation according to Harold Hotellmg s model‘? N

(A) 1/3. . :

(B) 7/16. TR '

(C) 112,

(D) Cannot be determined with the information giveﬂ.

L

2. Non-satiation implies that consumption bundles:’
(A) Which contain fewer of all goods are preferred.

(B) Which contain more of one good and less of another are preférred

{C) Which contain more of all goods are preferred '

(D) Which are nearer the origin are preferred. e )

3. Which of th following assumptions is not generally applied to an indifference’

curve? ' A

(A) Convex. .
(B) Diminishing MRS.
(C) Smooth.
(D) Transitive.

4. Beth consumes two goods, x, and x,, and ‘her income is $120 The pnce of x,

is $10, and the price of x, is 85, If her utlhty function is U( x, ) xz) Xt Xy, her

1

+ utility maximizing bundle is:

- LT

A7, 10)., . - o
®) (12, 0)
(©) (0, 24) L -
(D)3, 9) .

3. Iftwo linear demand functions intersect the quantity axis at the same pomt then'
(A) When quantities are equal, so are the price glas,tmx_tres ) cy
(B) When prices are equal, so are the elasticities. . P | .
(C) At the point of intersection the two elasticities are equal to one, _ .
(D) None of the above.- . A - '

6. Tom curtently has 100 units of x, “and 50 units of -x, , and Jan has 50 unifs of
x, and 100 units of x,. Tom’s-marginal rate of substitution is 10, and Jan’s is 1.

(A) Pareto-lmprovmg trades involve Tom givingup -x- for x,. - . ., 3
(B) Pareto-rmprovmg trades between Jan and Tom do not exist,. PR
(C) Pareto-improving trades involve Jan givingup x, for x, o e

(D) None of the above. N e




R a=1c: 3 =)

¥ S BEETRELIASERRE - M ans

VERE L T

L

t.i‘ 5

-
N

b
L]

7. The Paasche and the Laspeytes indexes;
. (A) Always agree with each other.
(B) Give the same numerical value
(C) Give the same qualitative ‘values.
(D) May contradict each other. . '
8. Ifa good is neither normal nor inferior, then:
(A) The income effect is larger than the substitution efcht.
(B) The income effect is smaller than the gsubstitution effect.
(C) The are no income effect.
(D) The are no substitution effect. .
9. According to the sep&ration theorem, indi'viduals choose consumption

expenditures by choosing the one that maxunlzes utility whllc makmg the present
L 3

value of income:

(A)Not smaller than the present value of consumption expenditures.
(B) Equal to the present value of consumption expenditures.
(C) Independent of the present value of consumption expenditures,
(D) Not larger than the present value of consumption expenditures.

10. The life cycle model hypothesizes that:

) (A) Older people spend more than they earn.

(B) Younger people earn more than they spend.
(C) Younger people spend more than they earn.
(D) Older people are less risk averse.

11. Suppose that a firm uses a technology for which the MP of a variable factor is

initially rising. Then: .

(A) Total And AP are maximized when MP is zero.
(B) MP is maximized before AP.
(C) MP is maximized before AP is falling.
(D) The firm will never reach diminishing marginal productivity.

12. Variable cost may be defined as:
{A) The least expendiﬁue on variable inputs to produce a level of output.
(B) The vertical distance between the APC and SRAC at level of output.
(C) The change in TC as more of the variable factor is employed
(D) None of the above. -

13. The demand for inputs is conditional’on the :
(A) Supply of inputs. - N i
(B) Marginal rate of technical substitution. - ‘ R S
(C) Level of output. = :
(D) Consumer’s choice problem.

I T [T [T 7

0N
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14, A cqmpqtlrrvg ﬁnn §|sho_r;t ﬂrun{suppl_y cury_e is ,1ts..; . e .
(A)SAC curve to the right of its SMC curve. .+, 0y -, » P
(B) Owner’s  preference function, o
(C) SMC curve above its SAVC cuwe P .
(D) SMC curve above its SAC curve. ' R
I5. Import ta.nffs have the effect of: R , o )
(A) Reducmg producer surplus . S
(B) Increasing consumer surplus. - e e,
(C) Increasing producer surplus. . .
(D) Lowering the market price in the domestic economy, , ..
16. If everyone thought thgt the world will end tomorrow: , =~ - -
(A) The interest rate wouid fail to zero. o . e
(B) The interest rate would rise to infinity. . .; C o i G oan
(C) No one would want to borrow anythmg i
(D) The effect would be the Same as if only 10% of people thought the worl¢wrll
_end tomortow. L R - PR Lo
17. The proﬁt maximizing monopolist that faces a horizontal TC curve w111
(A) Shut down and move to his best alternative employment. - ,
(B) Charge a price equal to MC and satisfy total market demand.. ;
(C) Produce that level of output at which MR is equal to zero. -
(D) None of the above. .
18. Donna’s firm uses one input, z, and she sells her output at $10 per unit. The
marginal product of z is 10-z and the price of z is $20 per unit. The proﬁt C o

e
¥

maximizing quantity of z is; . .
(A)S r v . :
(B) 10 A -
(C)5.5 P .
(D)8 | e

19. Which of the following assumptlons does not apply to Edgewarth Box dlscussrons

of general equilibrium: e
(A) All Edgeworth Box allocations are Pareto optimal.
(B) Both goods are essential for all consumers.
(C) Economic well being is determined only by the quantities consumed.
(D) Indifference curves are smooth and convex to the appropriate origin.

.
-l
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20. A profit maximizing monopsonist choosés’aggregate quantity of input so that:
(A) Price equals marginal factor cost. v
(B) Marginal revenue product equals aggregate margmal factor cost, -
(C) Marginal factor cost equals aggregate input quantlty
(D) None of the above. : i

21, The level of output per firm under Nash and Cournot equilibriums ‘are;
(A) Always the same.
(B) Never the same.
(C) Often the same.
(D) Seldom the same.

22, The equilibrium price in the Champerlin model of monopolistic competition is:

(A) Both individually and collectively irrational.

(B) Collectively rational but individually irrational.

(C) Both collectively and individually rational.

(D) Individually rational but collectively irrational.
23. The expected utility hypothesis requires information about all of the following

A

except:
(A) Outcomes.
(B) Preferences. ' ‘- ) :
(C) Probabilities.. ' : : .
(D) Prospects.
24, Transactions costs are costs-that violate:
(A) The rules of the game,
(B) The Coase theorem. _ -

(C) The rules of market allocation.
(D) Economic property rights.

25. The term adverse selection refers to a situation where:
(A) Most people are poor insurance risks.
(B) People-who buy'insurance need it.
(C) Most people don’t need insurance.
(D) People are over-insured. - o

I |
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Part II. Macroecono:mcs (each questlon 2 pomts) choose the best answer ( ﬁ-.é A ﬁu j\J) '?j'p
1. The cetitral macroeconomic concept that is:most clearly related to changes in the -4
well-bing of the average member of the economy is,the: f il

A, Inflation rate. . :
p, Interest rate. ’ . .

c. Foreign trade deficit. e L ' ;:‘ f‘
p. Productivity growth rate. |

2. A foreign trade deficit is financed by a combination.of

A, Selling securities to foreigners and buying foreign, assets. = ‘ 1 :i
B. Selling securities and assets to foreigners. ’ - - 1 ‘ -,ll
C. Buying foreign securities and selling assets to foreigners. T S it J'
D. Buying foreign securities and assets. o IR T
3. In the simple circular flow model contalnmg just households and Business firms, . . n
all income-is received by households i in exchange for ce . ]al '
A, Consumer expenditures. v [j
[ B. Wages. . ) -‘”- i
! ' C. Labor services. _ S oot : : iz
D. Product. : W et 5
! ‘4. Which of the following in not a “flow’ variable? "L - : |
' A. Government debt. . - - B Ih ¢
B. Consumption expenditure. ot L ' 15
C. Labor services. . . 'i:
D. Income. . x : ) I i
5. Wlhich of the*following is-included in the GDP? - - ¥
A. The current services flowing from the housing stock. d !
B. The estimated value of drugs sold iilegally. R . N I
C. The estimated value of leisure time, |
D. Transfer payments such as Social Security, and veterans’ benefits _' ' ‘ .
6. A change in real GDP sums.up changes in - :
A. Prices alone. - S e s - ST i |"
B. Physical production alone. ‘ L il !
C. Physical production minus changes in pr1ce . . { |
D. Physical production and prices. e L . ’ i r;
7. Fluctuations in total output are the reverse image of fluctuations in - f E
A. The inflation fite. - : . " . W
" B. The unemployment rate. . et T ;I

C. Gross domestic product. - T I
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D. The GDP deflator. .
8. Suppose that equilibrium income is 3200 and the multiplier is 2.38. Equilibrium
income would rise to 3400 if planned investment )
A. Rises by 84.03. .
B. Rise by 476,
C. Rises by 105.
D. Rises by 256.
9. Atevery point on the IS curve, the level of income on the horizontal axis equals
A. Planned autonomous spending,
B. Planned autonomous spending times the multiplier.
C. Planned autonomous spending divided by the rﬁultifﬂies.
D. Planned expenditures times the multiplier.
10. In the IS-LM model, equilibrium income can be affecied By
A. Fiscal policy alone.
B. Monetary policy alone.
C. Both fiscal and monetary policy.
D. Neither monetary nor fiscal policy. .
11. In deriving LM curves, holding the real money supply constant while raising real

- -

GDP cause us to
A, Trace up along an LM curve.
- B. Trace down along an LM curve.

C. Shift the LM curve to the right. )
D. Shift the LM curve to the left. : .

12. A vertical 1S curve comes from the assumption that changes in the interest rate do t
not affect
A. The money demand. .
B. The money supply.
C. Autonomous planned spending. ’ A |
D. The LM curve. ,

13. In the IS-LM modé¢l, the fiscal multiplier effect can be increased by
A. Larger increases in government expenditure. ] ) . b
B. Expansions of the money supply. ‘ ‘
C. Contractions of the money supply. 1 I
D. Raising the income tax rate. '

14, Suppose we have an economy for which G =300, T = 240, S = 80,1 =45, and
imports = 40. Exports must be
A, 25.
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B. 40. s 14,1 .."if_lt; NEAL] '3“ al d-g [H
C. 15. : O T 1l
D. 65. woaly f o 1t |
15. Actual output exceeds the natural output when Can ) "k
A. The actual budget deficit is above the structural deﬁcit TR R l E
B. :The-actnal budget deficit is-below,the structural deﬁc1t N I TR
"C. The structural deficit is positive. - i L i R
D. The structural deficit is negative. N .
16. The Bretton Woods system broke downdueto . i o _wrogs. ST om ' g
A. The British devaluation of the pound in1967. - wtan. d

B. Consistent U.S. trade surpluses drainingtdollar reserves from other. nations. ,
C. Large U.S: trade deficits forcing fqrelgn central bankslto buy:too.many ‘
! dollars. a -t W ooy ‘
| D. Nations disallowing shipments of gold at: the outbreak of World WarIL..;
17. In moving from a small open to a large open economy model, one policy has its

effectiveness in changing equilibrium income.enhanced: , ., =" . ) K

A. Monetary policy, under fixed exchange rates - ... |

B. Fiscal policy under fixed exchange rates. o . R S ? .
C. Monetary policy under flexible exchange rates.y, fe € ? K
D. Fiscal policy under flexible exchange rates. . . - S b 4\
[8. A rise in the price level causes ¢ D - T ) g
A. The LM curve to shift downward. .. G e R E
B.“The LM cyrve, to-shift upward. ,. . Coa o i
C: Movementup-along an LM curve, - - T St S e " ,
D. Movement down along an LM curve. T

19. The “Pigou effect” is the stimulus to aggregate demand when a lower price level
causes e i

A. Alower interest rate to increase fixed investment, o i g
B. A lower interest rate to increase inventory investment. L .

C. A lower interest rate to increase the demand for consumer durables. I

D. Holdings of money to increase in purchasing power, thus raising consumption

demand. ' - .

20. The “New Keynesian” macroeconomics is centered on

A. The assumption of continuous market-clearing. I

B. The importance of technological shocks. ) ‘

C. The imperfectness of the information held by economic decision-makers.

D. The rational reasons for slow price and wage adjustment. 1 :
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21. In the fooling model, real wages
A. Are countercyclical. :
B. Are procyclical.
C. Are constant,
D. Show no clear cyclical pattern. -

22. The New Classical assumption of how qmck]y markets clear-is actually most
appropriate in the analysis of .
A. The labor market.
B. The aggregate good market,
C. Financial markets, T " l
D. The market for consumer durables. ’

23. If nominal demand falls by 4 percent, real.output remains, unaffected ' i
A. Ifevery firm raises its price by 4 percent.
B. Ifevery firm holds its price constant.. *+ - - )
C. Tfevery firm lowers its price by 4 percent. ; [
D. Under no circumstances? it must fall. oo R b ‘

24. When the expected inflation rate is 5 percent we know to draw the short-run
Phillips curve through the .
A. Horizontal axis at Y = 105.
B. Horizontal axis at P = 1.05.
C. Long-run Phillips curve at P = 1.05. -

D. Long-run Phillips curve at P =5: > . !
25. Over a year, the money supply in a nation grew by 6 percent, while velocity fell:
by 1 percent and real GDP rose by 2 percent. This results in an inflation over the

year of - ,

A. 9percent. < : C :
B. 7 percent. . ! '
C. 5 percent. - - .. i
D. 3 percent. v ) ' i
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13. What is the probability- densit)}'ﬁlhction of Y =22 where. Z -is a standard

o0

normal random variable? i'-- ]
14.Let X be a continuous random vanable w1th probablllty density functlon f(x).

What is the probability density function of X? interms of f?

15. Suppose the closing price for JDSU stock is normally distributed. We have
observed its closing prices for the past eight.days:
. 210, 242, 250, 220, 205, 200, 185, 190,

What is the 95% confidence interval for the closmg price of JDSU du.nng the
samplmg period? {round to 2 dlgltS after decimal if ‘necessary).« ' .- oy

' 16. Jack decides to équally split all his savings -and invest in stock A and B. He has »
observed the annual return for each stock over the past five-years. Suppose that his !
portfolio (3% ﬁﬁ‘ﬂ"’-"‘) con51sts of stocks A and B only and he had equally invested
in both stocks five years ago what is his annual expegcted portfolio retum"'

| BI(E) AREHM | - B RREs A
"1 0.10 -0.10 , A 5
2. -0.05 : 0.05
) 3 0.15 L0000
4 0.05 -0.10 "¢ t
3] 0.00 . 0.10

-
* [}

17. In proBlem 16 a'bove,' what is the variance (risk) of Jack’s portfolio?

18. Let X and ¥ be mdependenrumfonn distribution on [0, 1] Find the
probablhty P(mm(X N=X |Y >05) 2. ..

19. Suppose X is a binomial random vanable w1th n=100 and p 0.1.Find

|

the value of ZP(X = k)

k=l o
“x « ! t_'-
20. From the sample X, and Y, we obta1n~the followmg rcgressmn functlons veu | of
. “te ICEL) I I 5
S Fi= 3o+1 20X  and’| X 10+06Y ;,;‘ | a

- e —— - T

" Let Z=Y — X .Find the correlanon coefficient between Z and Y. (round to
4 digits after decimal if necessary)

e A T
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3j#s - Cumulative probabilities and percentilés of the standard normal distribution '

z{a)
{a} Cumulative probabilities . '
. Entry is area a under the standard notmal curve, from — to z(ajf__
z 0.00 0.01 0.02 0.03 0.04 0.05 006 ‘¢ 0.07 0.08 0.09
0.0 | 05000 05040 05080 05120 05160 05199 05239 05279 0.5319 05359
0.1 | 05398 0.5438 05478  0.5517  0.5557 0.5596 0.5636 05675 05714  0.5753
02 | 05793 05832 05871 05910  0.5948  0.5987  0.6026  0,6064  0.6103  0.614]
03 | 06179 0.6217  0.6255 06293  0.6331  0.6368  0.6406  0.6443  0.6480 ' 0.6517
04 | 0.6554 06591 06628 06664 0.6700 06736 06772  0.6808  0.6844  0.6879
0.5 | 0.6915 06950 0.6985 07019 07054 07088 0.7123% 07157 07190 07224
0.6 | 07257 07291 07324 07357 07389 0.7422 07454  0.7486 07517  0.7549
07 | 07580 07611 07642 07673 07704 07734 07764 07794 07823  0.7852
0.8 | 07881  0.7910  0.7939  0.7967 Q7995  0.8023  0.8051  0.8078 08106  0.8133
09 | 08159  0.8186.  0.8212 08238  0.8264 08289  0.8315  0.8340  0.8365  0.8389
1.0 | 0.8413  0.8438  0.8461  0.8485  0.8508  0.8531  0.8554  0.8577 0.8599  0.8621
1.1 | 08643 08665 0.8686 08708 0.8729 0.8749  0.8770  0.8790  0.8810  0.8830
1.2 | 08849 08869 08388  0.8907 0.8925  0.8944  0.8962  0.8980 08997  0.9015
13 { 09032 09049  0.9066 09082 09099 09115 | 09131 09147 09162 09177
14 | 09192 09207 09222 09236 09251 09265 09279 09292 09306 09319
1.5 | 09332 09345 09357 09370 09382 09394  0.9406  0.9418 09429  0.5441
1.6 | 09452 09463 09474 09484 09495 09505 09515 09525 09535  0.9545
1.7 | 09554 09564 09573  0.9582 09591 09599 09608 09616 09625  0.9633
1.8 | 09641 09649 09656 09664 09671 09678 09686  0.9693 09699  0.9706
19 | 09713 09719 09726 09732 09738 09744 09750  0.9756 09761  0.9767
20 | 09772 09778 09783 09788 09793 09798 09803 09808 09812  0.9817
2.1 | 09821 09826 09830 09834 09838 09842 0986 09850 09854  0.9857
22 | 09861 09864 09868 09871 09875 09878  0.9881  0.9884  0.9887  0.9890
23 | 09893 09896 09898 09901 09904 09906 09909  0.9911 09913  0.9916
24 | 09918 09920 09922 09925 09927 09929 09931 09932 09934  0.9936 -
25 | 09938 09940 09941 09943  0.9945 09946 09948  0.9949  0.9951 . 0.9952
26 | 09953 09955 09956  0.9957  0.995¢ 09960 09961 09962 09963  0.9964
27 | 09965 09966 09967 09968 09969 09970 09971 09972 09973  0.9974
28 | 09974 09975 09976 09977 09977  0.9978° 09979  0.9979 09980  0.998]
29 | 09981 09982 09982 09983 09984 09984 09985 09985 09986  0.9986
z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
30 | 099865 099869 099874 099878 099882 ~ 099886  0.99889 099893 099396  0.99900
3.1 | 099903 | 099906  0.99910  0.99913 099916 099918 099921  0.99924  0.99926  0.99929
32 | 099931 099934  0.99936 099938  0.99940 099942  0.99944 099946  0.99948  0.99950
33 | 099952 099953  0.99955 099957 099958 099960  0.99961  0.99962 099964  0.99965
34 | 099966 099968  0,99969  0.99970 099971  0.99972 099973  0.99974  0.99975  0.99976
3.5 | 099977 099978 099978 099979, .0.99980 099981  -0.99981  0.99982  0.99983  0.99983
3.6 | 099984:%.0.99985°1" 099985 7 0.99986  0.99986. - 0.99987 °  0.99987.77"0.99988 "  0.99988  0.99989
37 | 099989 099990  0.99990  0.999%0  0.99991  0.99991  0.99992  0.99992  0.99992 . 0.99992
3.8 | 099993 099993 %D.99993 . 099994 . 0.99994 - 095994 -. 0.99994 099995  0.99995  0.99995
3.9 | 099995 099995  0.99996 099996  0.99996' '0.99996  0.99996  0.99996  0.99997  0.99997
cpattiiy e e Y P . ool Ly I
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. Percentlles of the ¢ distribution Entry is #(a; v} where P{i(¢) = t{a; V)] = a.

df a | %
v 0.75 0.90 0.95 0975 0.99 0.995 0.9995 i
Te 1000 3078 6314 12706  31.821  63.657  636.619 l
2 | 0816 188 2920 4,303 6.965 9.925 31.599 '
3| 0765 1638 2353 3.182 4.541 5.841 12.924 i
4 | 0741 1533 2132 2776 3747 4604 8.610 l
5°0 0727 1476 2015 2571 . 3.365 4032 6.869 |
6 | 0718 1440  1.943 2447 3143 3.707 5.959 W I
7 | 0711 1415 1895 2.365 2.998 3.499 5.408 [
8 | 0706 1397 1860 2.306 2.896 3.355 5.041 4
9 | 0703 1383 1833 2262 2.821 * 3.250 4,781 ,
10 | 0700 1372 1812 2228 2764 1.169 4.587 I
11 | 0.697 1363 1796 2201 2718 1.106 4.437 | '
‘12 | 0.695 1356 . 1.782 2.179 2.681 3.055 4318 : l
13 | 0694 1350 L1771 2.160 2.650 3.012 4.221
14 | 0692 1345 1761 2.145 2.624 2977 4,140 !
.15 | 0.691 L34l 1753 2,131 2.602 2,947 4,073 |
16 | 0690 1337 1746 2120 2.583 2.921 4015 :F |
17 | 0689 1333 1740 2,110 2.567 , 2.898 3.965 I
18 | 0.588 1330, L7314 2.101 2.552 2.878 1922 L
19 | 0688 1328 1729 2.093 2539 2.861 3.883 d
20 | 0687 1325 1725 2.086 2.528 2.845 3.850 o
21 | 0686 1323 1721 2,080 2.518 2.831 3.819 )
22 | 068 1321 1717 . 2.074 2.508 2.819 3792 - -
23 | 0485 1319 1714 2.069 2.500 2.807 1.768 ‘ i;
24 | 0685 1318 1711 2.064 2.492 2,797 3.745 ‘
25 | 0684 1316 1708 2.060 2.485 2.787 3.725 H
26 | 0.684 1315 1706 2056 2.479 2.779 3,707 ’ \ I
27 | 0684 1314 1703 2,052° 2473 2771 3.690
28 | 0.683 1313 1,701 2.048 2.467 2.763 3.674 '
29 | 0683 1311 1.699 2.045 2.462 2.756 3.659
30 | 0683 1310 1.697 2.042 2.457 2.750 1.646
40 | 0681 1303 1.684 2.021 2.423 2.704 3.551 s |
60 | 0679 1296 1671 , 2.000 2.390 2.660 3.460 I,
120 | 0677 1289  1.658 1.930 2.358 2617 31373 !
@ | 0674 1282 1645 1.560 2326 2576 3,291 .

Example: 1¢0.93; 10) = 1.812 30 PI«(10) = 1.812] = 0.93. > i
Text Reference: Usa of this table is discussed on p. 913. 4
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